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 �� ��� J = mR2/2 - *,��8 �� )�� .�. ��� �� �"�� � �� � � +  ��
��)��� �� �"�� J = mi2 � ��� ����*�, ���.��, )�� !�� ��� �!�/
?� ����$3$ %����� �#�� )*�8 ��  T = Jzω

2/2, �) Jz ! .�. �� �� �"��
� �� ������� �#�� ��� *��� ���- ω ! ����*�� �!�����#$1$ (������� �#�� )*�8 ��  T = mv2/2, �) v ! �!�����# !�!�/>
���� ���!� � ��$"$ (���!� )*�8 ��  

T = mv2#/2 + J#ω2/2,
0"$34

�) v# ! �!�����# " ���� .��� � ��- J# ! .�. �� �� �"�� � ��
������� �#�� ���- ���$�)�� / � � + " ��� .���$

% ������. ����� - !�� ��� �!�� ?� ���� �)����)���� "����)��
.����/ m ��)����. R - !���� ���� � + ����!��#+,*���� �� !�!�/>����
� ��)*�8��/ ��* �$����� 0���$ 31%4- �.  � *�)

T = 3mv2#/4,
0"$14

��� �� )� � �+ 0"$34 ��� ω = v#/R - J# = m#R2/2 $ & ?��.� ������
��������� � )*�8 �� "����)��- ��)��� �� * ���!��#�� � ��+.�>
�,*��� . ��*���/ ��  �� ���) ����- �)�� !�� " !�����/ +�!� �� �0'!�� �� �� ����'- ���$ 31(4 � *��� �� "����)�� *�!��� ��� ��  ��
���) 0'!�� �� �� ���! '- ���$ 31@4$
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���! C � "����)� !������ �� ��* �$�����$ ���+ A )*�8 ��� * ���>
!��#�� 0���$ 3"�4$ ���#- ���!� �� ���� ! ��� "����)�� D - ��*���
�� . �#6�/ ���) ���!�$ ���# ! ���+� A * ���!��#���- �����#�, 
����+�����#�, $ ���, ��)���, ���)�* � ��)���, �� �"�� ���!�* 
RB = 5 �.- rB = 4 �.- iB = 3 �.- RC = 8 �.- rC = 2 �.- iC = 6 �.$3���, � � mA = 7 !�-mB = 25 !�-mC = 8 !�-mD = 16 !�-mE = 50 !�$
��/�� ���* ) ���� .���� ���� ., * ���.�� T = µv2
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���+ A ����!� ��� � ���� �������,$ %,���,*� . *,��8 ��� )��
����* ���*����$ !�� ��� �!�$ ?� ���/

TA = mAv2

A
/2, TB = JBω2

B
/2, TC = mCv2

C
/2 + JCω2

C
/2,

TD = (3/4)mDv2

D
, TE = mEv2

E
/2,

0"$"4

�) vD
� vC ! �!������ �� / "����)�� � ���!� ����* ���* ���$ &�� >

��� �!�� ?� ���� *� / ���� ., �.  � *�)

T = TA + TB + TC + TD + TE .
0"$24
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�XeX ���������	�� ������� ������� �*
!�� .���� �!� * �����,- *$�)��� * 0"$"4- � � + �!�����# ���+�
A$ �����#+� . . ��) .���* ��,$ " ����* �!����� / 7 $ %,��8� .
����*�� �!�����# ���!� B � � + vA

 ωB = vA/RB $ ����)� � �!�
�������# �!�����# ���!� K �� *���� �� . ���) ���!� B  vK =
= ωBrB = vArB/RB $ ���# � �����8�.�- �� )�*�� �#�� vN = vK $3���* ��,/ " ��� �!����� / P1

���!� C ��$�)���� * ���! !������
��* �$�����$ (����� . ����*�� �!�����# ���!� ωC = vN/(2RC) =
= vArB/(2RBRC)$ ��� ) �� . �!�����# " ���� .��� ���!�

vC = VN/2 = ωCRC = vArB/(2RB)

� �!�����# ���!� L . �#6 �� ���)� ���!�
vL = ωC(RC + rC) = vArB(RC + rC)/(2RBRC).

�� *�)��- ����# 8 �� ������ � �����8�.���� ����- vL = vE $	�!�. ����+�.- *� !�� .���� �!� * �����,- *$�)��� * !�� ��>
� �!�� ?� ���� ���� ., *,��8 �, � � + vA $��� .�. ���* �� �"�/
�.  . ���.��, JB = i2

B
mB

- JC = i2
C
mC $ &�� ��� �!�� ?� ����0"$"4 "����)�� D *,���� �� � �����#+�*��� . ���.��, )�� .�. ���

�� �"�� �)����)���� )��!� JD = mDR2
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8 · 16 (36 + 64) v2
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8 · 25 · 64
= v2

A,

TD =
3 mD v2

A
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2
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3 · 16 v2

A
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16 · 25 · 64
= 3v2

A,

TE =
mE v2

A
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2

8 RB
2

=
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A
16

8 · 25
= 4v2

A.

����)� �.  . ���* ) ��, .���, � � µA = 7 !�- µB = 9 !�-
µC = 2 !�- µD = 6 !�- µE = 8 !�$ (��* ) ���� .���� *� / ���� .,-
�������� 0"$24- ��*�� µ = 7 + 9 + 2 + 6 + 8 = 32 !�$��. ��.- ��� ��)��� "����)�� D �� ����*�� � +�)�� � )��
� 6 ��� � ���� ��*����$9:;<=>������..� )�� � 6 ��� ?��/ +�)��� )��� �� �$ "��$
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